Posts at culvert spaced
at 37% (953) centers

4 (102) 4 (102)
N min. I_’A min.
T T T T T —_ e n___ 0 _ O __ 0 __ 0

N\ I fe I /
J 12 (300) J 12 (300)

min. L;A min.

50' (15.24 m) min. of other guardrail type required prior to barrier terminal. 6'-3" 6'-3" 50' (15.24 m) min. of other guardrail type required prior to barrier terminal.
(non-blocked guardrail shown) (1.91 m) (1.91 m) (blocked guardrail shown)

Pay limits of Guardrail Attached to Culvert

See DETAIL A for

1% M attatchment to
(44) Steel post . post.
70 xx,
%? (10)— = %6 (5) both ends ” Steel q
dia. (] ” post \
ol N
Post Post 9 | 0
Y6 |1 e Culvert
standoff standoff 14) ” A head wall
o NS KN
N 70 xx, I | m
0 I I y \ both ends ‘ ” o 8 S| 1:10
| DETAILB I ope 1:10 or
L4A_Liall R flatter
Y6
SQUARE WASHER A | (14) Steel socket. See
J 1l Cases I - VI for
S$3x5.7 (S76x8.5) o assembly and o
(273(/;1) _ | / steel post \ mounting details
. |€
A I ” Post standoff See DETAIL B
N M| x i
o = )/ for welding
. NI of post standofs
Steel backup plate SQUARE WASHER A with [ ” \\
nested between %6 (7.9) dia. UNC, 1% |:|_[ —
guardrail and steel (31.8) long hex bolt POST |:|
post. HIN and nut ——
ma STANDOFF [ % (10)
I -
1/, I dia. Jda SECTION A-A
o) I =SB 1% s
— T = (38) = GENERAL NOTES
i | 1T | | ” — See Standard 630001 for details of guardrail not
L ii | | || ‘—1\& shown.
See Standard 630006 for details of non-blocked

Ll
Steel plate beam / ” | guardrail not shown.
guardrail ” 3
Steel post at - Post standoff All threaded rods and bolts shall be installed with

(76)
culvert STEEL POST heavy hex nuts and standard washers unless noted
DETA".A OILLLT VJIE otherwise.
NIE= All dimensions are in inches (millimeters)
Nig (=== unless otherwise shown.
ol ©
ez DATE REVISIonS WEAK POST GUARDRAIL

@ lllinois Department of Transportation 1-1-20 Revised HHS to HSS in Top

& | View on sheets 2:5. ATTACHED TO CULVERT

(152)
(Sheet 1 of 6)

PASSED January 1, 2020

ENGINEER OF POLICY AND PROCEDURES 1-1-17 New Standard.

APPROVED January 1, 2020

LT-T-T @3NsSI

BACKUP PLATE STANDARD 630111-01

g

o
ENGINEER OF DESIGN AND ENVIRONMENT




Two % x 7 (M19 x 178)
threaded rods secured
withchemical adhesive

12 (305)
Steel min.
post
\’r ] o % o)
;EW N /expansion bolt
NE
8 —
% x5 _/ ||| | |_| < T
(M16 x 127) | —17]
hex bolt || |
and nut |
i
i (WP -
/| | \( < g
Socket |
assembly |

Two % x 2 —/

(M13 x 50) hex
bolts and nuts

Greater of 5% (140)
or R+2% (R+64)

il

\

1%
" (38)
For R greater than 3 (76) provide
BRACKET A. For R less than or

equal to 3 (76) provide BRACKET B.
(BRACKET A shown)

* R varies between 0 to 6 (152)

CROSS SECTION
CASE|, (H+T-R) < 18 (457), TOP MOUNT

@ Illinois Department of Transportation

PASSED January 1, 2020

ENGINEER OF POLICY AND PROCEDURES

APPROVED January 1, 2020

g

o
ENGINEER OF DESIGN AND ENVIRONMENT

LT-T-T @3NsSI

ELEVATION

2%
(64)

/ GUSSET

™

HSS4><4><3/3\]_

|

B

/ PLATE E
—‘>—<3/8 (10) 70 xx

H

I
i
I q

@)

S

FRONT VIEW

@)
TOP VIEW
4
(102)
5y Haol e
oz [ |’X
~NlC | A | T 1 -
I C > 1
| NED
% | | N % o)
Wr— | dia.
m o
2 I
>
I
| | 70 xx % (10)
I N
| | PLATE C
| q o
| A
2
70 xx >—|>~ (51)
% (10)
10 % (10) 70 xx
SIDE VIEW
SOCKET ASSEMBLY
FOR CASEI

R

(51)

WEAK POST GUARDRAIL
ATTACHED TO CULVERT

(Sheet 2 of 6)

STANDARD 630111-01




W Two 3 (19) threaded

Steel 12 (305) min. rods. Length shall be
post ~ W + 4 (102). ||
N\e / / SQUARE WASHER B ||
| LI
— !
% x5 _— / / 3 E - — ”_
(M16 x 127) T — — = == - © || I || O
hex bolt H i H
and nut || " ||
: n
R - | |
| I E |
/| \ M | |
Socket % p \ ?|—|'|_|?
assembly |/} \ - One % (19) | -
expansion bolt
Two % x 2 —/ | 1% b
(M13 x 50) hex ' " (38)
bolts \
For R greater than 3 (76) provide
BRACKET A. For R less than or
Greater of 5% (140)  ———— (001 to 3 (76) provide BRACKET B.
or R+2% (R+64) (BRACKET A shown)
* R varies between 0 to 6 (152)
CROSS SECTION ELEVATION
CASEIl, (H+T-R) <18 (457), SIDE-MOUNT THROUGH-BOLT
12 (305)
min. /»Two % x 11 (M19 x 279)

Steel
post = threaded rods secured |
N\@ with chemical adhesive "

% x 5 —/

(M16 x 127)
hex bolt
and nut

Socket /|

a%
(114)
H
o]
i gl
=]
ol

P
/:
4%
(114)
-

[e]
\ One % (19)

expansion bolt

L \
assembly |
Two % x 2 —/

1%
(M13 x 50) hex " (38)
bolts \
For R greater than 3 (76) provide
Greater of 5% (140) BRACKET A. For R less than or

. equal to 3 (76) provide BRACKET B.
or R+2% (R+64) (BRACKET A shown)

* R varies between 0 to 6 (152)

CROSS SECTION ELEVATION

CASE lll, (H+T-R) < 18 (457), SIDE-MOUNT ANCHORED

@ Illinois Department of Transportation

PASSED January 1, 2020

ENGINEER OF POLICY AND PROCEDURES
APPROVED January 1, 2020

g

o
ENGINEER OF DESIGN AND ENVIRONMENT

LT-T-T @3NsSI

GUSSET C -

HSS 4 x 4 x %

GUSSET C i
TOP VIEW
4
(102)
2
By [
Jz T | 1 | |
Bolgl  |rep<os |
|/ | 70 xx )= | |
% (19)—~ /O § 6 (10)
dia. LL_ | Q | |
1o | % PLATE D\'__"l\ lJ—“
70 XX>%1T‘7_/ |/L % O | | O
% (10) | | 76) | |[76)
| | 70 xx % (10) | |
| |
| N
| l'o
| A |

% (10) 70 xx

SIDE VIEW

SOCKET ASSEMBLY
FOR CASES Il & 11l

FRONT VIEW

WEAK POST GUARDRAIL
ATTACHED TO CULVERT

(Sheet 3 of 6)

STANDARD 630111-01




12 (305)
min. /—Two % x 7 (M19 x 178)

Stefl threaded rods secured |
pos with chemical adhesive
- |

F\ WM_:M?
% x 5 —/ T .||_|N||—|-

(M16 x 127) || S || " ||

—
ay
(114)

hex bolt

and nut c |
e I
Socket H JJI:H:H

assembly | / _—
4% =
(114) R"
Two % x 7 (M13 x 178)

threaded rods secured
with chemical adhesive

* R varies between 0 to 6 (152)

CROSS SECTION ELEVATION

/ GUSSET B

@ Illinois Department of Transportation

PASSED January 1, 2020

ENGINEER OF POLICY AND PROCEDURES

APPROVED January 1, 2020

LT-T-T @3NsSI

g

o
ENGINEER OF DESIGN AND ENVIRONMENT

CASE IV, (H+T-R) > 18 (457), TOP MOUNT

H / O PLATE E
HSS 4 x 4 x % T &/
L] b
] O % (10) xx
TOP VIEW
4
(102)
2 | % (10) 70
(51) ~|2
S BE
ez | I
| oY |
AR o
gz o g " > |
= | | 70 xx % (10) | |
: : PLATE B !\ !
| /ﬂ \_‘
2 2
70 XXW‘>—/ ﬁ-l I_ _-I Iﬁ)
8 % (10) 70 xx
SIDE VIEW FRONT VIEW
SOCKET ASSEMBLY
FOR CASE IV

WEAK POST GUARDRAIL
ATTACHED TO CULVERT

(Sheet 4 of 6)

STANDARD 630111-01




Steel
post

% x5
(M16 x 127)
hex bolt

and nut/
Socket

assembly

_—

W
12 (305) min

3/

Two % (

SQUARE WASHER B

—H 1R
|
L

| B
Az

(330)| |

mM
—

Two % x 7 (M13 x 178)/

threaded rods secured
with chemical adhesive

Steel
post

% x5
(M16 x 12
hex bolt

assembly

7)

_/

e
2%
QR

* R varies between 0 to 6 (152)

CROSS SECTION

) threaded rods
secured vvlth chemical adhesive.
Length shall be W + 4 (102).

o .
ol

ELEVATION

CASEV, (H+T-R) > 18 (457), SIDE-MOUNT, THROUGH-BOLT

min.

12 (305) I

Two % x 11 (M19 x 279)
threaded rods secured
with chemical adhesive

and nut/": ]
Socket ||J—_'| H

Two % x 7 (M13 x 178)
threaded rods secured

with chemical

adhesive

@ Illinois Department of Transportation

PASSED

January 1,

2020

ENGINEER OF POLICY AND PROCEDURES

APPROVED

January 1,

LT-T-T @3NsSI

2020

g

o
ENGINEER OF DESIGN AND ENVIRONMENT

| I RE
|‘—I o Sz T
aoff — — ==
o |
" (229)  m[Q
ul
_
4% | -
(114)

* R varies between 0 to 6 (152)

CROSS SECTION

of .

ol

GUSSET C -

HSS 4 x 4 x %

GUSSET C U

TOP VIEW
4
(102)
2 1
(51)
W o |
P

8%

SIDE VIEW

ELEVATION

CASEVI, (H+T-R) 2 18 (457), SIDE-MOUNT ANCHORED

% (6) 70 xx
70 xx % (10) | |
1 h
PLATE D _—|\ |—‘
~oll I'o
| | ~ o
[ [ e
ST/ [ :
S 7OXX>W (76) | | (76)
5 PLATEA\ I\\ |
(@] (@]
|
2|

% (10) /0

XX

SOCKET ASSEMBLY

FOR CASESV & Vi

FRONT VIEW

WEAK POST GUARDRAIL
ATTACHED TO CULVERT

(Sheet 5 of 6)

STANDARD 630111-01




1
Y l__(76) 1] ___ (203) . 1 Varies

(25) (25) 1%
(38)

% (16) dia.
o O -
% (16) dia.f

(76)
)
|
I 2
Qo
N
N
\f/
38
(203)

2%
(57)
%
(13)
3
(76)
1%
(38)
an)

- 9
2 | - I +[8
= ~ 2 11 Z
(57) |2 X[z T’ o
(- | Ll L (203)
f } , Varies . = RN oL
GUSSETA PLATEA |2 (25) (25)
(223) 8 ! O /aO N
2 1 1 NS 5 _4//\/ SNEE
K | 5D s -1 @S - XX % (16) . ~NE T
(25) (25) - % (7.9) dia.

Gusset A

™M 5, 1 ia.
<2 \_l fag N SR N N D BRACKET A
— 4= = 7
- £ _ | L
_% | x|z
(13) = _ | (38)
Nis! <2 % (22) —|!
] | dia. '\ —
: i A N I
GUSSETB PLATE B | s
| =
|
2%
3 (67) 8
& 8 7 .
o] [ (203) (178 o E S L O B
L — » (25) (25)
(25) (25) -
S %8 5 - 8 BX E j P S AN
= % (16) dia — 70 xx % (16) <4 1 ~Nj©e |
B i Jan 4 ~ ~ — %6 (7.9) dia.
— (N N N - Gusset A
2% | m\w‘% - s
(57) NEB Sk BRACKET B
I ] L] 3 % (22) dia
f 76)
GUSSETC _ V4
m
x|z ~
o
3 T T ] e €l
(76) f a2
1% / i
(38) PLATE C 5! ) N f—
% (22) ™~ 10 |11/ 1% -
dia _ 254 — ] — ==
N e 1% | — (254 — 1% (38) (38)
J= NV = (38) (38) 2 =
13 (229) <2

N

1%
(38)

\<—7/s(22)diaj> MEH T T |
N

L N
PLATEE

P
f

SQUARE WASHER B

(13)

WEAK POST GUARDRAIL

@ Illinois Department of Transportation

N T ATTACHED TO CULVERT

(Sheet 6 of 6)

PASSED January 1, 2020

ENGINEER OF POLICY AND PROCEDURES
APPROVED January 1, 2020

LT-T-T @3NsSI

PLATE D STANDARD 630111-01

g

o
ENGINEER OF DESIGN AND ENVIRONMENT




	Rev stds 11x17
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-005
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-006
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-007
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-008
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-009
	223-630111-01_WeakPostGuardrailAttachedtoCulvert-010
	223-631031-16_TrafBarTermType6-011
	223-631031-16_TrafBarTermType6-012
	223-631031-16_TrafBarTermType6-013
	223-631031-16_TrafBarTermType6-014
	223-631033-08_trafbartermtype6B-015
	223-631033-08_trafbartermtype6B-016
	223-701316-13_LnClosure2L2W-BridgeRepair45MPHOrMore-017
	223-701316-13_LnClosure2L2W-BridgeRepair45MPHOrMore-018
	223-701321-18 LnClosure2L2W-BridgeRepairWithBarrier-019
	223-701321-18 LnClosure2L2W-BridgeRepairWithBarrier-020
	223-782006-01_GuardrailandBarrierWallReflectorMountingDetails-022
	223-782006-01_GuardrailandBarrierWallReflectorMountingDetails-023
	223-782006-01_GuardrailandBarrierWallReflectorMountingDetails-024
	223-812001-01_RacewaysEmbeddedinStructure-025
	223-812001-01_RacewaysEmbeddedinStructure-026
	223-812001-01_RacewaysEmbeddedinStructure-027
	223-837001-05_LightTowerFoundation-028
	223-837001-05_LightTowerFoundation-029


